=
N = 0 &
205 UL Y EOLTBA « ZOLTBA

3 Al

CHBGRA(BA) - MEAMY - BES Abod o1& o =
7,763,940 7,350,920 413,020
] 3,553,785 3,194,865 358,920
o =X 452,727 419,727 33,000
s =223 211,832 178,832 33,000
Usr2 oyl 179,132 176, 132 3,000
JNESTINT 142,032 139,932 2,100
Ol E28 I HEY 2,100 0 2,100
zz=29| 37,100 36,200 900
O JANESE XY 2= 900 0 900
R S| 32,700 2,700 30,000
Y2 EH S| 32,700 2,700 30,000
O ANESE2E ENGIHHH 72 30,000 0 30,000
=3 2,973,588 2,647,668 325,920
€ =3 2,973,588 2,647,668 325,920
o/ 5/H| 2,973,588 2,647,668 325,920
SEPN 1,308,720 991,800 316,920
OgF4+Y 25 1,308,720 991,800 316,920
ojIpINALLS 35,207 26,207 9,000
O=RUAYRERYD BEE 33,620 25,190 8,430
OLoRIIRYRHE 25 1,587 1,017 570
E H(ERggaa) 4,210,155 4,156,055 54,100
H(ZERggaa) 4,138,398 4,084,298 54,100
EELIIELI=]=f)) 4,138,398 4,084,298 54,100
o121l 3,811,296 3,759, 196 52,100
g 630,581 599,581 31,000
OFTEIRS 621,531 590,531 31,000
- 2y 958 31,000 0 31,000
Houg Ayl 111,260 110,760 500
OFMBAY 2EE 111,260 110,760 500
DESXH| 98,200 94,200 4,000
ONERXH 2= 98,200 94,200 4,000
=RESIE] 159,800 157,800 2,000
OYEEII 252 159,800 157,800 2,000
JHH X2 ] 266, 100 263, 100 3,000
ORI 25 266, 100 263, 100 3,000
=[BRS 113,905 102,305 11,600
Otz 2(50) 113,905 102,305 11,600
X3 8EE 11,000 0 11,000
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